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1. Solve the following initial value problem. (31 B 28 » B# 5| E8@E > & F
WREFERFHD) -
a. e*(2cosydx-sinydy)=0, y(0)=0.
b. V' +9y=15¢", y(0)=6, y'(0)=-2
(30%)
2. Find a power series solution in power of x. (3t B - ##7)3 Hidf > &3 E
BRERTHS) -
Y +y +x°y=0.
(15%)

3. Find a basis of eigenvectors and diagonalize the following matrix. (3 &% - 3%

I EEE St EBRERTHS) -

-5 -6 6
9 -8 12|, A=-2
~12 -12 16

(15%)
4. Let u:[z X y]’ V:[y-{-z z4Xx x+y]’ f=x+y—Z and g=xyz

Find the given expressions. (3t H %8 » FH# 5|3 H @ > KT FBREFRT
5 e
a. V-V(fg) b. V-(uxv) ¢ Vx(gv)
(15%)
5. Find the Fourier series of f(x)=3x" (-w<x<nm). (GIEM > FHHIHEH
c it EEER TS -

(15%)
6. Solve by Laplace transforms. (3t 28 & 3#F#73 @ » S H@EEXTF
B
M e oy wx,0)=1, w0,1)=1
o ot :

(10%)




